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® Clz + H2O === HCI + HCIO
® MnO2 + 4 HCI — MnCl2 + 2 H20 + Cl2
5!
® 2H20+2e” - H2 + 20H"
@ 2CIF —»Clzg+2e”

i

RFRLIAVHRLD bBOBRIEAZ L 0D

fi

WHFEAKEMZ2NE 3 vHE D 2AERET,
=Ry (47 L e b G
AURT VI URIGEREIRNED

i

(a)

HCI (b) HF

(e

HBr (d) HI




= & 24 i B—3
& &
Ak £ it 23 H a8
3]
(1)
WTE 0.0 mL 5.0 mL 10.0 mL 15.0 mL 20.0 mL
pH 1.0 1.5 7.0 12.3 12.5
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0.0 5.0 10.0 15.0 20.0
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8 % HoCOs & 4 f L EBET 2 0T, pH XA T 5,

o CaCOa3 + 2 HCI — CaCl2 + H20 + CO2

8 %7713, CaCO3 — CaO + CO2

fH 3 1.6 {%
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2.00 % [2.4 x (78 — 10.0) + 840] = 2006 J
]
% 2.0 x 103 J
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(200.61 —200.11) x 8300 x (273 + 78) + (100000 x 0.316) = 46.1
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